F+ o EROBSRAERE—E

FRk235%11 A25RAIE

_— . BIERER 1 Sv/h] A5 - RAE#ER 1 Sv/h]
o o= AT R =X =X =X "% #h 55 AITE R R =X =X =X 2]
100cm 50cm 5cm 100cm 50cm 5cm
1 |EsEMEE 0.09 0.09 0.10 21 |FEtcREILAIE 0.15 0.20 0.24
2 |TEEISRIGTHRAET 0.12 0.14 0.22 22 |Wi5 0.14 0.16 0.15
EBAERILE P
3 RAEF () 0.12 0.13 0.19 23 |ERERAE 0.13 0.14 0.18
TEHERITA 2 :
4 AT (b)) 0.12 0.14 0.20 24 |EREREE 0.12 0.14 0.18
TEHBERILA oy
5 RIAEF (chdt) 0.14 0.17 0.28 25 |10 o= 0.07 0.06 0.07
EBHEALE R
6 BT (3 0.10 0.14 0.25 26 |BLT—ILRBELNE 0.07 0.07 0.09
7 |deEEsEEE 0.11 0.13 0.20 27 |4F5 1-3% = 0.04 0.04 0.04
TEHERILE — LTEBEFRLILE [ ——
LTEBRERILE EEHEFERELILE e —
9 RIAEF (ch) 0.17 0.21 047 29 HokO (46) 0.14 0.25 0.53 50cm | 3[a]EI E F 9B
TEHERILE LTEBEFR LA
10 AT () 0.12 0.15 0.30 30 HokO (/) 0.10 0.13 0.23
o
1 |z mmss 0.12 013 014 31 gﬁﬁﬁﬁgim 014 0.24 033  |50cmiE3EBETI9E
12 |ABEREYBRTRET 0.13 0.14 0.34 32 |EARESR 0.08 0.08 0.09
13 |AEEEMET 0.17 0.19 0.37 33
14 |(AEEERAE 0.16 0.19 0.41 34
15 |[AEEREET 0.40 0.71 3.19 50cm (% 3[a]EI E F 9B 35
16 |AEEERMET 0.10 0.14 0.34 36
17 |ABEAOAE 0.13 0.26 1.26 50cm (% 3[a]8I E F 9B 37
18 |dLAREALEIE 0.11 0.14 0.15 38
19 [P EE 0.11 0.13 0.20 39
20 |dtBEFH R 0.11 0.12 0.18 40
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